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Curl and Divergence

A two-dimensional vector field is a vector-valued function
F:R> >R
that one can visualize with a field of arrows.

For example, the below graph is a visualization of the vector field

F(x,y) = (v, x).

A 2D circulating vector field



Curl and Divergence

One can think of such a vector field as representing fluid flow in two
dimensions, so that

F(x,y)
gives the velocity of a fluid at the point (x, y).
In this case, we may call F(x, y) the velocity field of the fluid.

With this interpretation, the above example illustrates the clockwise
circulation of fluid around the origin.




Curl and Divergence

The same interpretation is possible for a three-dimensional fluid flow with
velocity represented by a vector field

F:R>— R

In this case, F(x, y, z) is the velocity of the fluid at the point (x,y, z), and
we can visualize it as the vector F(x, y, z) positioned a the point (x, y, z).

For example, F(x,y,z) = (y/z,—x/z,0) can be viewed as fluid circulating
around the z-axis.




Curl and Divergence

The connection between the fluid’'s boundary behavior and its internal
behavior is made possible by the notions of divergence and curl.

The divergence of a fluid’s velocity field measures the rate at which fluid is
being piped into or out of the region at any given point.

The curl measures the fluid's rate of rotation at each point.



Green's Theorem in the Plane

Green's theorem in the plane can be used to describe the relationship
between the way an incompressible fluid flows along or across the
boundary of a plane region and the way it moves inside the region.

Two forms of Green’s theorem

Flux-Divergence or Normal Form

Green's theorem states that, under conditions usually met in practice, the
outward flux of a vector field across the boundary of a plane region equals
the double integral of the divergence of the field over the interior of the
region.

Circulation-Curl or Tangential Form

Green's theorem states that, under conditions usually met in practice, the
counterclockwise circulation of a field around the boundary of a region
equals the double integral of the curl of the field over the region.



Green's Theorem in the Plane

Green's theorem is one of the great theorems in calculus.

It is deep and surprising and has far-reaching consequences.

In pure mathematics, it ranks in importance with the Fundamental
Theorem of Calculus.

In applied mathematics, the generalizations of Green's theorem to
three dimensions provide the foundation for theorems about
electricity, magnetism, and fluid flow.



Green's Theorem

Green's theorem applies to any vector field satisfying certain mathematical
conditions. It does not depend for its validity on the field's having a
particular physical interpretation.

However, we discuss the theorem in terms of velocity fields of fluid flows
because fluid flows are easy to picture.

Green'’s theorem (general form) states that a line integral around the
boundary of a plane region R can be computed as a double integral over
R. More precisely, if R is a “nice” region in the plane and C is the
boundary of R with C oriented so that R is always on the left-hand side as
one goes around C (this is the positive orientation of C), then

N oM
fdeJr/vdy // a—ay)dxdy

if the partial derivatives of M and N are continuous on R.



Flux Density at a Point : Divergence

The flux density of a vector field at a point, which in mathematics is called
the divergence of the vector field. We obtain it in the following way.

Suppose that
F(va) = M(X’y)i + N(Xay)j

is the velocity field of a fluid flow in the plane and that the first partial
derivations of M and N are continuous at each point of a region R.

Let (x,y) be a point in R and let A be a small rectangle with one corner
at (x,y) that, along with its interior, lies entirely in R.
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Flux Density at a Point : Divergence

The sides of the rectangle, parallel to the coordinate axes, have lengths of
Ax and Ay.

The rate at which fluid leaves the rectangle across the bottom edge is
approximately

F(x,y).(—))Ax = —N(x,y) Ax.

This is the scalar component of the velocity at (x,y) in the direction of
the outward normal times the length of the segment.

For example, if the velocity is in meters per second, the exit rate will be in
meters per second times meters or square meters per second (m?/s).



Flux Density at a Point : Divergence

The rates at which the fluid crosses the other three sides in the directions
of their outward normals can be estimated in a similar way.

We have

Top : F(x,y + Ay).(—j)Ax = N(x,y + Ay) Ax

Bottom : F(x,y).(—j)Ax = —N(x,y) Ax

Right : F(x + Ax,y).(i))Ay = M(x + Ax,y) Ay

Left : F(x,y).(—i)Ay = —M(x,y) Ay.

Combining opposite pairs gives

Top and bottom : (N(x,y + Ay) — N(x,y)) A (a—N y)Ax

Right and left : (M(x + Ax,y) — M(x,y)) Ay =~ (%Ax)Ay.



Flux Density at a Point : Divergence

Adding the above relations gives :

Flux across rectangle boundary = (%—’\;’ + %—’}\/’)Ax Ay.

We now divide by Ax Ay to estimate the total flux per unit area or
flux density for the rectangle :

Flux across rectangle boundary <8M L 8N>

Rectangle area “\ox oy

Finally, we let Ax and Ay approach zero to define what we call the flux
density of F at the point (x, y).

We call the flux density, the divergence of F and it is denoted by div F.



Flux Density at a Point : Divergence

The flux density or divergence of a vector field

F = Mi+ Nj

at the point (x,y) is
div F = oM + oN
- O0x Oy’



Flux Density at a Point : Divergence

Intuitively, if water is flowing into a region through a small hole at the
point (xo, ¥0), the lines of flow would diverge there (hence the name) and,
since water would be flowing out of a small rectangle about (xo, yo), the
divergence of F at (xp, yo) would be positive.

Source:
divF(xg vg) =0

A pas expanding
at the point (xg, ¥p).
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Flux Density at a Point : Divergence

If the water is draining out instead of flowing in, the divergence would be
negative.
Sink:

div F (xg, ¥ 0
A pas compressing v (xo o) <
at the point (xg, ¥p).

S
7\



Circulation Density at a Point : Curl

The circulation density of a vector field at a point, which in mathematics
is called the curl of the vector field. We obtain it in the following way.

Suppose that F(x,y) = M(x, y)i + N(x,y)j is the velocity field of a fluid
flow in the plane and that the first partial derivations of M and N are
continuous at each point of a region R.

Let (x,y) be a point in R and let A be a small rectangle with one corner
at (x, y) that, along with its interior, lies entirely in R.

{x, v + Ay) Ax (x4 Axy + Ay)
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Circulation Density at a Point : Curl

The sides of the rectangle, parallel to the coordinate axes, have lengths of
Ax and Ay.

The counterclockwise circulation of F around the boundary of A is the sum
of flow rates along the sides.

The rate of flow (flow rate) along the bottom edge is approximately

F(x,y).iAx = M(x,y) Ax.

This is the scalar component of the velocity F(x,y) in the direction of the
tangent vector i times the length of the segment.

The rates of flow along the other sides in the counterclockwise direction
are expressed in a similar way.



Circulation Density at a Point : Curl

In all, we have

Top : F(x,y + Ay).(—i)Ax = —M(x,y + Ay) Ax

Bottom : F(x,y).(i)Ax = M(x,y) Ax

Right : F(x 4+ Ax,y).(j))Ay = N(x + Ax,y) Ay

Left : F(x,y).(—j)Ay = —N(x,y) Ay.

Combining opposite pairs gives

Top and bottom : —(M(x,y + Ay) — M(x,y)) Ax =~ —(%Ay)Ax
Right and left : (N(x 4+ Ax,y) — N(x,y)) Ay ~ (%—’)\(’AX)A)/.



Circulation Density at a Point : Curl

Adding the above relations and dividing by AxAy gives an estimate of the
circulation density for the rectangle :

ox Oy

~

Circulation around rectangle <8N 8/\/1)
Rectangle area ’

Finally, we let Ax and Ay approach zero to define what we call the
circulation density of F at the point (x, y).

We call the circulation density, the curl of F and it is denoted by curl F.



Circulation Density at a Point : Curl

The circulation density or curl of a vector field F = Mi + Nj at the point

(x,y) is curl F = %_%'

If water is moving about a region in the xy-plane in a thin layer, then the
cirulation, or curl, at a point (xp, o) gives a way to measure how fast and
in what direction a small paddle wheel will spin if it is put into the water

at (xo, yo) with its axis perpendicular to the plane.

WVertical axis

Vertical axis

el &

B
i

Curl Fxg vg) + k=0 Curl F (g wp) e k=0
Counterclockwise circulation Clockwise circul ation



Two forms of Green's theorem

Flux-Divergence or Normal Form

Green's theorem states that, under suitable conditions, the outward flux of
a vector field across a simple closed curve in the plane equals the double
integral of the divergence of the field over the region enclosed by the curve.

Green’s Theorem (Flux-Divergence or Normal Form)

The outward flux of a field F = Mi 4+ Nj across a simple closed curve C
equals the double integral of divF over the region R enclosed by C.

j{F.nds = j{Mdy—Ndx
= // 37M+87N dxdy.



Two forms of Green's theorem

Circulation-Curl or Tangential Form

Green's theorem states that, under conditions usually met in practice, the
counterclockwise circulation of a vector field around a simple closed curve
is the double integral of the curl of the field over the region enclosed by
the curve.

Green’s Theorem (Circulation-Curl or Tangential Form)

The counterwise circulation of a field F = Mi + Nj around a simple closed
curve C in the plane equals the double integral of curlF over the region R
enclosed by C.

fF.Tds = %de—i—Ndy

= // aﬂ—a—M) dx dy.



Assumptions for Green's theorem to hold

When we wish to apply Green's theorem, we need two kinds of
assumptions for Green's theorem to hold.

1. We need conditions on M and N to ensure the existence of the
integrals.
The usual assumptions are that M, N, and their first partial
derivatives are continuous at every point of some open region
containing C and R.

2. We need geometric conditions on the curve C. It must be simple,
closed, and made up of pieces along which we can integrate M and N.
The usual assumptions are that C is piecewise smooth.



Calculating Area with Green's Theorem

Green’s Theorem Area Formula : If a simple closed curve C in the
plane and the region R it encloses satisfy the hypotheses of Green’s

Theorem, the area of R is given by
jq{x dy — y dx

C

Area of R =

N -



George Green (1793-1841) was a self-taught scientist in Nottingham,
England.

Green's work on the mathematical foundations of gravitation, electricity,
and magnetism was published privately in 1828 in a short book entitled

“An Essay on the Application of Mathematical Analysis to Electricity and
Magnetism.”



The book sold all of fifty-two copies (fewer than one hundred were
printed), the copies going mostly to Greeen's patrons and personal friends.

A few weeks before Green's death in 1841, William Thomson noticed a
reference to Green's book and in 1845 was finally able to locate a copy.

Excited by what he read, Thomson shared Green's ideas with other
scientists and had the book republished in a series of journal articles.

Green’s mathematics provided the foundation on which Thomson, Stokes,
Rayleigh, and Maxwell built the present-day theory of electrogagnetism.



Exercises

Exercise 1.

In the following exercises, verify the conclusion of Green's Theorem for the
field F = Mi+ Nj. Take the domains of integration in each case to be the
disk R : x?> + y? < a? and its bounding circle C : r = (acost)i + (asin t)j,
0<t<2r.

1. F=—yi+xj

2. F=—x%yi+ xy?j




Solution for Exercise 1

1. M= —y = —asin t,N=x=a cos t,dx = —a sin t dt ,dy =a cos t dt :>8M:

0,9 = 1,9 =1 and 2¥ =0;
y x y
Equations(3); §, M dy — N dx = fh (—a sin t)(a cos t) — (a cos t)(—a sin t)]dt =
Jmodt=0; fo [ (34 + ay)dx dy = [ [0 dx dy =0, Flux
Equation (4):¢. M dx + N dy = fo [(—a sin t)(—a sin t) — (a cos t)(a cos t)]dt =
f2“ a%dt = 2mwa?; fRf<3—Nf—)dxdy J2, fvaz_x2dydx—f 4v/a%2 — x2dx =
[5\/a2 —-x2+Z 2 gin—1 ﬂia =232 (5 + 5 =2a 27, ) Circulation
2. M=—x?y=-2a° 3cos t sin’t,dx = —a sin t dt,dy =
a cos t dt :>3M 2 BN_y andaN_2xy;
Equation (3):
$Mdy — N dx= 277(—34 cosd tsin t+a*cos t sindt) = [% cos* t + %sin4 t](z)w =0;
fRf<8x + 8y)dx dy = [r [(=2xy + 2xy)dx dy = 0,Flux

cos? t, N = Xy =a
—2)<y7 —X

Equation
(4):§. M dx+N dy = fo a*cos? t sin? t4a* cos? t sin t)dt—f2"(2a cos? t sin’ t)dt =
f02"%4sm 2t dt = & ;ﬁsm udu_%[% %] *’”” fRf(———>dxdy_

Jr J(F? +x3)dx dy = foh g r?-rdrdf= f027r %d@ = 74, Circulation



Exercises

Exercise 2.

In the following exercises, use Green's Theorem to find the
counterclockwise circulation and outward flux for the field F and curve C.
1. F=(x®>+4y)i+ (x + y?)j
C : The square bounded by x =0, x=1,y =0,y =1
2. F=(x2 - y?)i +2xyj
C : Boundary of the region formed by the curves y = x*> and x =y
3. F=(x+ e siny)i+ (x + e cosy)j
C :The right-hand loop of the lemniscate r? = cos 20
4. F = (tan 1 L) i+ In(x? + y?)j
C : The boundary of the region defined by the polar coordinate
inequalities 1 <r <2, 0<0<m

2




Solution for Exercise 2

1. M:x2+4y,N:x+y2 = %—A: = 2x, %—M =4, %’)\(’ =1, ‘:’;—c’ =2y = Fqu:fRf(2x+2y)dxdy:f01 f01(2x+

2y)dx dy = [}Ix® + 2xylhdy = [L(1+2y)dy = [y +y?I§ = 2 Circ = [ [(1 — 4)dx dy = [} [} —3 dx dy = —3

2. M:x+y,N:7(x2+y2)¢%—'\::1,% =1,98 = o, %y:72y¢Fqu:fRf(172y)dxdy:
_[01 f(;((l — 2y)dy dx = fol(xfxz)dx = % Circ = [R[ —2x — 1)dx dy = fol fox(72)<7 1)dy dx =
fol(72)<2 — x)dx = 7%

3. M=x+¢e"sin y, N=x+ e cosy = %*A::l+exsin y,% = e* cos y, 71+e cosy, %y =
—e*sin y = Flux = fRde dy = f:r,/f/‘;fo 0520 1 gr dg = ]7(:_4/4 (1 cos 20) do = [7s|n 20}7(/:/4 = %;
Circ = [ [(1+ € cos y — eXcosy)dx dy = [ [dx dy = f"/rll/‘tfovcoswrdr do

/4 (1 _1

71ﬂ/4(§ cos 20)d0 = 3

— -1 _ 2 2 —y oM _ ON _ 2 ON _ 2y
4. M=tan P L N =In(:* +y%) = G = 220 0y Xziyzv ox = Xz:yszy )

:>F|ux:fRf( ezt fyz)dxdy:foﬂff(rsrigé’)rdrde

= [ sin 0d0 = 2,Circ = [ [ (Tfyz - fiﬂ) i dy = [ 2 (252 r dr do = [ cos0 d6 = 0




Exercises

Exercise 3.

In the following exercises, use Green’s Theorem to find the
counterclockwise circulation and outward flux for the field F and curve C.
L F=(xy+yd)i+(x—y)j

2. F=x3y%i+ %X“yj

3. F= _1ny2i + (tan~ty)j

v



Solution for Exercise 3

1. M=xy+y> N=x—y= %’)‘:’ =y, By —x+2y, aN =1, aN =—1= Flux=
Je S+ (=D)dy dx =[5 [ (y = 1)dy dx = f3 (3x — \/;— 3x* 4 x%)dx =
—%;Circ: Jr J(1 = (x+2y))dy dx = fo f (1—x—2y)dy dx =
fol(\/)?fx3/2fxfxz+x3+x )dx = — &

2. M:><3y2,N:%X4yé?9 = 3x%y? M*2x3y:—*2x y,a—Nf 1% = Flux =
fR f(3><2y2 + %X“)dy dx = fo >(z_x(3x + %x“)dy dx =
f02(?>x5 — %x6 +3x7 — x8)dx = %4; Flux = [ [(2x3y — 2x3y)dy dx =0

_ X _ —1 IM __ 1 oM —2xy AN __ AN
3. Mf—HyQ,than Y= o T Ty & (1+y2)2,ax O,Bny
Vi- vV
=[S i ) dcdy = [V VAVISY g o
R 1+y t oy 1J_ Az 1+y 1 7 14y2

47+/2 — 47; Circ
= ol (0- (&2%5)) dv dx =" fm (%) dv ox = [11(0)dx =0

(1+y2)2




Exercises

Exercise 4.

1. Find the counterclockwise circulation and outward flux of the field
F = xyi + y?j around and over the boundary of the region enclosed by
the curves y = x? and y = x in the first quadrant.

2. Find the counterclockwise circulation and the outward flux of the field
F = (—siny)i+ (xcosy)j around and over the square cut from the
first quadrant by the lines x = 7 /2 and y = /2.




Solution for Exercise 4

1. M=xy,N=y #%ﬂf—y,%’\y/lzx,a—’gzo a—N:2y:>F|uX:fRf(y+2y)dydx:
fo /23y dy dx:f0 (Tzf%)d :% Circ= [ [ —x dy dx—fo Jo2—xdy dx =
fol(—x2 +x3)dx = —%

2. M= —sin y,N=x cos y = %X —0,%";’7—cos y,g—’)\(’:cos y,%:—x sin y =
Flux = [ [(—x sin y)dx dy = fo"/z foﬁ/2 (=x sin y)dx dy = fw/2 (——sm y) dy =
—%;Circ:fRf[cos y — (= cos y)]dx dy:foﬁ/2f0”/22 cos y dx dy =
foﬁ/27r cos y dy = [r sin y]g/2 =



Exercises

Exercise 5.

1. Find the outward flux of the field

F= <3xy — ) i+ (eX+tan~1y)j

14 y?

across the cardioid r = a(1 + cosf), a > 0.

2. Find the counterclockwise circulation of F = (y + e*Iny)i+ (€ /y)j
around the boundary of the region that is bounded above by the
curve y = 3 — x? and below by the curve y = x* 4 1.




Solution for Exercise 5

— __x 1_ 9ON _
LoM=3y 1+y I+y?? 9y = 1+y2 = Flux=

I (3y o7 T oy )dx dy = [ [ 3y dx dy = [27 [0 (3, sin 0)r dr df =
fOZW a3(1 + cos 0)3(sin 0)d6 = [— 7(1 +cos6‘)4}0 = —4a3 —(—4a%) =0

2,N:eXthan y = ax =3y —

2. M=y+eXIn y,N:—:> ¥ M 14 ;,BX:§:>Circ:

Je S 15— (142 )]dxdy—fRf( Ve dy = J2, [37 —dy dx =
,ffl[ *x2)7(x +1)]dX:f71(X 4 x2 *Z)dX:—%



Exercises

Find the work done by F = (4x — 2y)i + (2x — 4y)j in moving a particle
once counterclockwise around the curve
C : The circle (x —2)? + (y — 2)? = 4.




Solution for Exercise 6

M =4x =2y, N =2x — 4y = G = -2, 8/l = 2 = work =

$.(4x = 2y)dx + (2x —4y)dy = [ [[2— (=2)]dx dy =4 [, [ dx dy =
4(Area of the circle) = 4(w - 4) = 167



Using Green's Theorem

Exercise 7.

Apply Green's Theorem to evaluate the integrals in the following exercises.

L. §(y?dx + x2dy)
C

C : The triangle bounded by x =0,x+y =1,y = 0.
2. §(6y + x)dx + (y + 2x) dy
C

C : The circle (x — 2)? + (y — 3)?> = 4.




Solution for Exercise 7

1. M= y2N—x = oM —2y,a—N—2x:>fy2dx+x2dy—fRf2xf2y)dde:
fo 2x—2y)dydx—f0( 32 +4x—Ndx=[-x3+2x2 — x|} =-142-1=0
2. M:6y+x,N:y+2x:>%M76,g’)\!72¢§c 6y + x)dx + (y + 2x)dy =
Jr J(2—6)dy dx = —4(Area of the circle) = —16m



Exercises

Exercise 8.

Use the Green's Theorem area formula given above to find the areas of the
regions enclosed by the curves.

1. The ellipse r(t) = (acost)i+ (bsint)j, 0<t <2m.
2. One arch of the cycloid x =t —sint, y =1 — cost.

3. Find the area of the region bounded by y?> = 4x and x*> = 4y by
Green's theorem.




Solution for Exercise 8

1. M=x=acos t,N=y=b sin t=dx=—a sin t dt,dy =b cos t dt = Area =
1§ xdy—ydx=1 Ozﬁ(ab cos? t + ab sin t)dt = 1 02” ab dt = mab

2. GG:M=x=t,N=y=0=dx=dt,dy=0,G: M=x=2r —t) —sin(2r — t) =
2r —t+sint,N=y =1—cos(2r —t) =1—cos t = dx = (cos t — 1)dt,dy =sin t dt
:>Area:%fcxdyfydx:%fclxdyfydx+%§czxdyfydx
=1 [27(0)dt + L [Z7[(2m — t +sin t)(sin t) — (1 —cos t)(cos t— 1)]dt =
—% 02”(2 cos t+t sin t—2—27sin t)dt:—%[3 sin t—t cos t—2t—2mcos t]3" = 3x

3. (a) M:f(x)7N:g(y):>%—’y\/’:07:>%—')\<':0:>fcf(x)dx+g(y)dy:
fRf(%—')\(’—%—Ay”)dxdy:fRdexdyzo
(b) M =ky,N=hx= G =k = Gl =h=§ ky d<+ hx dy =
Jof (B =) dx dy = [ [(h— K)ax dy =
(h — k)(Area of the region)



Integral dependent only on area

Exercise 9.

Show that the value of

j{xyz dx + (x%y + 2x) dy
C

around any square depends only on the area of the square and not on its
location in the plane.




Solution for Exercise 9

I\/I—xy2N—xy+2x:> 2xy, =2xy+2=

$.xy?dx + (x%y + 2x)dy = fRf<a—N——)dxdy—
Jr J(2xy+2—2xy)dx dy =2 [, [ dx dy =2 times the area of the square



Exercises

1. What is special about the integral

f4x3y dx + x* dy?
C

Give reasons for your answer.

2. What is special about the integral

%—y3 dy + x3 dx?
c

Give reasons for your answer.




Solution for Exercise 10

1. The integral is O for any simple closed plane curve C. The reasoning: By the tangential
form of Green's Theorem, with M = 4x3y and N = x*, fc 4x3y dx 4+ x*dy =

T S (500 = 85 (@) d dy = f f (@0 — 45°) o dy 0
0

2. The integral is O for any simple closed curve C. The reasoning: By the normal form of
Green's theorem, with

0 o
M = x3 andN = fy3,§c —y3dy + x3dx = fRf [a(f}ﬁ)* 37(X3)]dx dy =0
—_—— Y

N—_——
0 0



Exercises

1. Area as a line integral : Show that if R is a region in the plane
bounded by a piecewise smooth, simple closed curve C, then

Area ofR:fxdy:—jl{ydx.

C C

2. Definite integral as a line integral : Suppose that a nonnegative
function y = f(x) has a continuous first derivative on [a, b]. Let C be
the boundary of the region in the xy-plane that is bounded below by
the x-axis, above by the graph of f, and on the sides by the lines
x = a and x = b Show that

/ab F(x) dx = jfydx.

C

v




Solution for Exercise 11

L Lt M=xandN=0= 2% =1
and%:O:fchy—NdX:fR (%—Aj—kg—y)dxdy:ﬂxdy:
Jr J(1+0)dx dy = Area of R = [, [dx dy = §_x dy;
simi|ar|y,M=yandN:o:>%—"y”=1and%’l’zo:>§cl\/ldx+Ndy:
fRf(%Y—l-%)dydx:fcydx:fRf(O—l)dydx:>—fcydx:fRfdxdy:
Area ofR

2. fab f(x)dx = Area of R = — §_y dx, from the above exercise.



Area and the centroid

Exercise 12.

Let A be the area and x the x-coordinate of the centroid of a region R
that is bounded by a piecewise smooth, simple closed curve C in the
xy-plane. Show that

%]{ 2dy:—%xydx:%%xzdy—xydx:AY.
C

C C




Solution for Exercise 12

Let
B _ Jo[x 8(xy)dA [ [x dA ffdi = _
d(x,y) =1=x=Tx = o To0)dA = JoJdA = = AX

Jr [ x dA= [, [(x+0)dx dy = §Xdy,Ax—ffodA JrJ(O+
x)dx dy = — §_xy dx, and Ax = [ [ x dA= f [ (3x+ 3x) dx dy =
fc %xzdy — %Xy dx = %fcxzdy = —f xy dx = 3 2dy xy dx = AX




Maximizing work

1. Among all smooth, simple closed curves in the plane, oriented
counterclockwise, find the one along which the work done by

(1o 1), .
F—<ny+§y)|+XJ

is greatest. (Hint: Where is (curl F)-k positive?)

2. Curl component of conservative fields : Can anything be said about
the curl component of a conservative two-dimensional vector field?
Give reasons for your answer.




Solution for Exercise 13

1. /\/]:%X2y+%y37N:X:>%:%x2+y2,%—’)\!:1:>(:ur|:

%—’)\(’—%—A}f’ = 1—(%x2+y2) > 0 in the interior of the ellipse %x2+y2 =

1= work = [_F -dr= [ [(1—3x>— y?)dx dy will be
maximized on the region R = {(x,y)|curl F} > 0 or over the region
enclosed by 1 = %X2 + y?

2. The curl of a conservative two-dimensional field is zero. The
reasoning: A two -dimensional field F = Mi+ Nj can be considered to
be the restriction to the xy-plane of a three-dimensional field whose k
component is zero, and whose i and j components are independent of

z. For such a field to be conservative, we must have %—’;’ = %—’\;’ by the

component test in Section 16.3 = curl F = %—’)\(’ — %—’\;’ =0



References

1. M.D. Weir, J. Hass and F.R. Giordano, Thomas' Calculus, 11th
Edition, Pearson Publishers.

2. R. Courant and F.John, Introduction to calculus and analysis, Volume
[I, Springer-Verlag.

3. N. Piskunov, Differential and Integral Calculus, Vol | & Il (Translated
by George Yankovsky).

4. E. Kreyszig, Advanced Engineering Mathematics, Wiley Publishers.



